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Problem 1. 1. Calculate 48mod 15.

2. Calculate 26180 mod 29.

3. What are the last two digits of 720?

Problem 2. Compute the following inverses using Bezout’s algorithm.

1. 7−1mod 26.

2. 13−1mod 37.

Problem 3. Let m be a prime number.

1. Prove that φ(m3) = m2(m − 1).

2. Show that for any n ∈ N, φ(mn) = mn−1(m − 1).

Problem 4. 1. Find the Euler Totient function, φ(30).

2. Using the Euler Totient function find 13−1mod 30.

Problem 5. 1. Find x such that 2x
≡ 9 mod 17.

2. Find x such that 2x
≡ 3 mod 12.


